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1. Convert the scientific notation to a number.

1x10°= | =
=

1x10t= 10
1)(102: 100

1 x 103 — | l)OGO
1 x 104= [b)oéo

1)(105_ (00,000

1x 10°= 1,000,009

1 x 107 = 16,0 od,00D0
1x 108= l00,000,000

1x10° = \)ooo,ooo,ooo

1 x 1012 = | ,600,000,000,008
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2. Convert the scientific notation to a number.

1x 108 = O,00000} one millimth
> ' w 12 2 Y5

lx 10‘5= 0,0006\

1x10%= o.000|

1 x 103 = o0-006l Lngosan dth
1x102= ool

1x10t= ol

1x10%= !

3. Convert the scientific notation to a number.

7@ '1)000
o060

-4 x 1q%= "%)000)000
i

3x10%= 0.5

%6 x 103 = ~0.006
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4. Convert the number to scientific notation.

3
(1)000 = | 10

(5000 = 5 %10
@) — -7 X 1o

L

-700 = =7 *Io

g@z 2 X |0

—Y
0.0004 = Y xlIo
L2y 9
0.08)= 2 *15
10 = I XID
1= | xI0
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5. Convert the scientific notation to a number.

1W\§x 103 = |2%L{

000

5.\6/\@)( 103¢ = 5)(478)

J@\x 101 = =78
-7.89 x 10% = — 7789
A

89004 = ~8J00000
6.Z§g x 10% = @7)8‘1 oJelele

Y zevos

34 101 = 0.3

°m'56 x 104 = o.?gc;;i%

03,4 % 102 = 0.0%

1.2, 101 = 1
x 1023 = @67,200000)00000 ODOO@DDOO
\A)\;QOUGOS &3 ’\’)\)\' a
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6. Convert the number to scientific notation.

3
_1&3)51 = L}.‘a%,% X 0

5,678 = 5,610 216

78 = "TR KO
-789,= -7.81 €10
8,980,900 = -8.9 « 1
67,890,006= 6781 X 1°
B34 = 34 X160
0456 = 4. 56 £)0

Y ¥ lO-Q
0.034 = 3. |
12 = [, XI0
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7. 2| =2 2| =
e oo I3 = |-3] =
NN
N\
® 14 =Y 4] =
FS'EI =3 ,+2-§, =‘5
5 -3
19-4] =5~ 49| =5
millpem 2. (-q
|1x106-1| = |1-1x10°] =999 299

Looopoo = | AMITT_qqq,q99 |
| ' X=5or =5 |
8. The absolute value of some number, call & “x,>1s 5. -

What are the possible values for mystery numbe -
= = ? —_
=5 7] -5 @

9.
Vi={F-1 +9=*3  J100= *l0

(’()7'=l lo ¢l 3073 lo” =loo
NZEE V25=* /10,000 =*l00
0,22-_:‘} cr=25" 600)( | 6%
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